NERYE

AETLSERY! | AETF—iZRT

il Bz 15 5

1
(7 - mm
mz B BOP) e meelac (AD [AE| KK | L |LA| LB | LD M | N | P |S|T o i =
2P | 4P | 6P D|E|ED| F| G | GA | B3 | R&#E
1/4|1/4| — | 63 131]127| 92| $20| 243| 12 | 220|103 | 130| 110 | 160 | 10 | 3.5| 11| 23|18 | 4 | 8.5 12.5| 62012Z| 620122
aETL| 12| 172 18] 71| | | 144|132]102] @20 | 285 12 | 256 |123 | 130| 110 |160| 10 | 35| 14| 30|24 | 6 | 11.0|16.0| 620222 620222
RETF| 1 | 1 |1/2| 80| 2 |163| 148|110 ¢22| 288| 12 | 248 | 95 | 165|130 200 | 12 | 3.5| 19|40 |25 | 6 | 15.5 |21.5| 62042Z | 62032Z
~21 2| 1|90 1 184|163 124| 22| 374| 12 | 324|168 | 165|130 | 200| 12| 3.5 24 50|32 | 8 |20.0 |27.0 | 6205ZZ | 62042Z
7 1 HINBEEDAEREIRIEE : 6 - 2. 5|EBEENQAER  h7 - 3LULBEEEEE - ZASB1TEA0 -
HAYR
o T B ® S5 @ SZHEE ® BT [EAHE 1 ® [
(BB BEH 0 ER BR) e EEnEA ® 53R 4 B A4S IR ® =1 ® RLIBHR
® ZEFE T #2 ® R HEK ©® RUBTHEAAY ©® AEF EARY @ fFEE
® IZHH IR NE A o HBIZTERS I ® {ETH ® {HT ® TEFRHZ R
©® JLEX LAY ® FERLEH ® En g ® [ TN @
® SRR ® MESEEEE 14 ® [ A=A ® AR @ 5if AR BUMK
® = L EIVEZ 3270 ® 5 HT14 ® = I\ DB ® EHP
® HZCIRIH o® HRIREISHRMEN @ ERANW ® EIE N ® HZ RIS
® PR ® SHER ® 1/l 5% ©® MREEHE o SEEESR R T 2T
® 1 RIBZETHEM ® iffE ® F5IS AN ® EX=E% ® IR BT i
® finfAE% s ® HRRE A e RS ® 5 SR H AR ® RUTERET
® T o FIELH He EZEMm

TECO RaxEBERRMHBIRLE

BEER N6 BERER-15%10F
TEL:(02)6615-9111 FAX:(02)6616-2503 http://www.tecomotor.com.tw

JUN

11/BA-0908

BT EBFRRER

1S0O-9001[E R & 1R &2 58
1SO-140013R1E & IE

OHSAS 18001 £ R 2 B4 B e

15 9001 Isgﬁ)m OHS/§8001 C €

Wt

b‘b

R T

Q1°EJL4\ afg E@
AEGL - AETL 8tk e &3 25
AEGF - AETF#itk i —i% 25
AS GF 4> 2 Bl $ g 5 32 — % 2 41




% qE’E %% 60Hz/220V- AEGL.AETLEERTI

E#RiELs » SEBA0°CIEIEEaTE » {BFIREN(S. F.) 1.0 » 20HZ/380V- AEGF. AETF—iZR3

- 60HZz/220V- ASGF—fi%R5l
- _ ; s : el I " RPM Yl B W B DRRH | B R | B K| B R Skl Bl
AETLENERS) : MRS BEEUNmEREE [ [ [ WP | RPw | Fe | BB R B DERE | ® R B BB R g
B | < BRI - e
AEGF%* 3l : FitNEZZREERA T ESE RS SE 6 AR » TR 3350 71 0.108 78.5 84.5 1.5 290 10 300 0.0025
o g . S e o B RN o 1/2 10.37 | 1670 71 0.216 76.0 71.0 1.8 285 10 300 0.005
AETF#& 3l : FREBEER I T EMERISSE E KKREBEANE D » SRKRFEBEABRTHEN
. v ’ A 1R — AR AEGL 1125 80 0.321 74.0 68.5 1.9 230 10 270 0.009
ASGF#% 3l : FRFZREERA TS RV S SE - fy=mn 3410 80 0.214 785 845 3.0 280 20 345 0.005
e | | |075] 1720 80 0.426 80.5 725 3.4 365 23 405 0.011
=R
1140 | 90L | 0.636 795 71.0 35 205 19 275 0.018
: 2k BN ELINEFS E ~&h/]\ » I > s 3 2 =EH
Y5EL: e ZRRTENEFTITSIECIRE ® TJI?@JJ N IRENMBETT10mELT » EiEZ & a0 ool | 043 820 86.0 52 295 20 290 0011
BHEM - BRMEESZE - 8B5S AP BREE - 2 115 00 ool | o084 825 83.0 5.7 275 40 295 0.022
REE - ® ERERAMIRAE - MimiZHEER 3 | 22| 3470 | 0L | 0.624 86.5 86.5 7.8 375 72.0 430 0.015
® /\BULEZET » BE/\BEE » FEFEIME(E St BEEE [t - SEEEE o 2700 63 0.065 60 72 0.7 280 4 260 0.002
HOE ~ ZREEFE o o EERIEIEAIRAE » EIEIERIE 14 1018 | 1330 63 0.136 64 66 0.7 250 4 240 0.0025
s - N U 1 1 1 1 8 21 4 24 .
® KEYE - NEUEHTEER - g WEENLT - BES - FIeE 0 7 0197 L S % 0 0 0 | 0B
© (G EARIBIS - AT B IS B R = 4 (= EESLEBE » SR . 2780 71 0.131 77 80 0.9 320 7 310 0.0025
s AEULmisas D Ao =T =+ /_\“—f—_ R Au\gaz 12 |037 | 1380 71 0.262 71 65 12 300 7 290 0.005
B - WERBFRZNIIKER - ® FIRENRZA A (EOEimiR2) R AEGF 930 80 0.388 68 63 13 230 7 250 0.009
mBZE - SHEMEE - REesE - WWHEBE /w107 - FBERS AETF 2800 | 80 0.258 77 84 18 240 11 320 0.005
® $EEL0HZz/220V - 60HZz/200V - E: BERNEERE L - BIIEE - e 1 |05 | 1400 el ] % % 2 22l il 20 Loy
60Hz/220VE] A - ERTSE - ® IFIEFTESRBIBIZIZBAECNS » HRIEIE 640 9oL 0.76 £ 67 23 200 12 300 0.018
® :IAEARUIR A SRR AN - FIZEE GBIRSIEFEEL300%%) - BE 2 |15 e L P B B
A - . A . - ' 1425 | 9oL | 1.017 81 76 3.7 260 26 340 0.02
® RO IEIR BN R BIRE IR » FOSHARK BR - 3 [22] 2810 | 9oL | 0789 82 87 48 300 38 300 0.015
Ri=E - (FHASZ@GE ° 12 037] 1125 | 80 0.323 65.5 66 2.3 200 10 230 0.009
. _ 3380 | 80 0.215 735 86.5 3.1 180 20 260 0.0043
IRERREEER ¢ 1 1075 1710 | 80 0.425 775 735 34 240 20 300 0.009
H =] AEGL / AEGF ‘ AETL / AETF ‘ ASGF is?;; 1150 | 90L | 0.632 75.0 69 3.8 170 20 250 0.018
- N A
Ul FIES N ETEES N e : : : : :
B Bt K & TEERIZE(CNS)  BIRETZEE(IEC) - HATERBHE(JIS) 3 22 350 | 9oL | o632 825 89.0 60 250 = 280 001
&= =5 o EF ST E N
i = E BEEE220VAEZE220/380V » 2201440V =l CSBRAREAEAE - 2 SRS  KEEEETEEEIEC60034-2-1 3. EFEHBRT/SCIUT - 4. BTEEMEAEEER - HEME - W
g7 B BEESEEB60HZTN50HZ TR - REEE - R . EERRETRETEENRRL . 5 SRREE | KISEEETEES [EC60034-10 6. FBIESERE - MABTE -
W b P 1/4HP~3HP | 1/2HP~3HP
. 1 5
% 5% 3000~1000R.P.M(2f~618 » 50Hz ) / 3600~1200R.P.M(2fE~61E » 60Hz ) NERYE
BFEETE EEFRET - FRRES.F) 1.0 .
ik i 5. AEGLERERS] | AEGF—RRSI ASGF —f3R5)
" 1E i 63~90L 80~90L
RES I SERNTEIP 44) FERAPEREL(IP 22) o
TLE 2BIC4 BN 2TC OTIHE54] @ﬂ}g e
ZEH A IM 1001 : KRR | IM 3011 : (g RIESE IM 1001 : KRR <] 1A
- - SEEHK : £10%UN SERBENE - + 5%LIN
] . FEEEE : D EMEREEZFE10%A » BIERESTEL 5% N Lﬁ% H
FEREE —RERA . BR: —15C~40C BE : RHIO%M T (RAZEHE) © B : 1000ARMT 2
W E I R RT e BERE T —
# H(HP) iy ) &
RN = ZiEn B3 1E3% B3| A | AA [AB|AC |AD| B | BA|BAX|BB| C | H [HA|HC|HE| K KK| L | Z
G |cA| amp |Ranm
2855 2BERED | 4| P Sl I Bl
NP —=——y e —_— 14 |14 — | 63 100 | 35 |135| 131|131 | 80| 25 | 25 | 105 | 40 | 63 | 2.8 | 129 | 44 7 200213 | 14 | 11 | 23| 18 | 4 | 85|125| 6201ZZ | 6201ZZ
" U I = KIFEIRETZEE(IEC) 60034 » (PEIEIRIZAE(CNS) 10919 (C3192) » R ZEREE) A5 wea, V2|72 4] 71 | 1 2] a0 [150] 144|132 ] 90[ 0 | 30 |120] 45 | 71 [32]143] 52 [ 10 920|250 [ 20 [ 14 30 |24 | 5 [110]160] eeoazz | eevazz
’ Jg E ”.T% l||$ E$E rﬁ"‘iﬁj AEGF | 1 1 (12| 80 125| 40 |165| 163|149 | 100 | 30 | 30 [ 130 | 50 | 80 | 3.2 (162 | 57 | 10 $22|288 | 20 | 19 | 40 | 25 | 6 |15.55(21.5| 6204ZZ | 6203ZZ
= = TS EEER : SEZA75CUUT - ER/FRE(S.F) 1.0 L2 2|1 | 9L| 2 |140| 40 | 180| 184|158 | 125 | 35 | 60 (155 | 56 | 90 | 4 |182| 69 | 10 ¢22|344 | 20 | 24 | 50 | 32 | 8 |200|27.0| 62052Z | 62047Z
)@@;EL}%IPE 120%@}5@;%?%%2%\@ e 1 1 /12|80 | 3 |125| 40 |165| 145|149 | 100 | 30 | 30 | 130 | 50 | 80 | 3.2 153 | 57 | 10 #22| 243 |20 | 19 | 40 | 25 | 6 |155|21.5| 6204ZZ | 6203ZZ
'|IE E o 5% ] % 2 |1 90L| 4 |140| 40 | 180 | 163|158 [125| 35 | 60 | 155 | 56 | 90 | 4 |171| 69 | 10 ¢22|297 | 20 | 24 | 50 | 32 | 8 |20.0|27.0 | 6205ZZ | 6204ZZ
i S T II 1 / ,\H-I 3 T l|1 !
Amsett SORBERESR15Y A BINEEDASREEIEE 6o 2MILEEHASR : 10> —1.5. 3ASGFEIE3 « 71X MIBEESEEATE - 4 CBEEERE » BRRTEA -




